

### **PAYMENT DUE DATE:**

#### 1<sup>ST</sup> HALF

On or before 31 st August 2023

#### 2<sup>ND</sup> HALF

On or before 31 st January 2024

#### **EXCHANGE RATE FOR INTERNATIONAL DUES**

(Assumption 1 USD = Rs.300/=)
Depend on Current Exchange Rates



### **EXISTING MEMBERS FOR FULL LIONISTIC YEAR**

International Dues US\$46*300	13,800.00
District Dues Rs.100/=*12	1,200.00
Multiple District Dues	250.00
Contribution for District Directory	500.00
Contribution for web development and administration	100.00
Contribution for Leo District	200.00
Contribution for Leadership Institute	400.00
Contribution for Disaster Relief Fund	
Benevolent Fund	200.00
Total	200.00
A VVIIIA	16,850.00

Please deposit above contribution -Commercial Bank City office A/C NO .1020023751 Lions Clubs International District No.306 C1



# NEW MEMBER JOINING FEE-EXISTING CLUB

International Entrance Fee US \$ 35*300	10,500.00
International Dues \$ 46*300	13,800.00
District Entrance Fee	300.00
District Dues Rs.100/=*12	1,200.00
Contribution for web development and administration	100.00
Contribution for Leo District	200.00
Contribution for Leadership Institute	400.00
Contribution for Disaster Relief Fund	200.00
Benevolent Fund	200.00
Multiple District Dues	250.00
Toal	27,150.00

Please deposit above contribution -

Commercial Bank City office A/C NO .1020023751 Lions Clubs International District No.306 C1



## NEW CLUB EXTENSION (CHARTER MEMBER)

Entrance Fee US \$ 35*300	10,500.00
International Dues \$ 46*300	13,800.00
District Entrance Fee	300.00
District Dues Rs.100/=*12	1,200.00
Multiple District Dues	250.00
District Directory	500.00
Contribution for web development and	
Administration	100.00
Contribution for Leo District	200.00
Contribution for Leadership Institute	400.00
Contribution for Disaster Relief Fund	200.00
Contribution for Benevolent Fund	200.00
Total	27,650.00



#### **Family Membership**

International Entrance Fee US \$ 35*300	Rs. 10,500.00
International Dues US \$ 23.00*300	Rs. 6,900.00

#### **New Club Charter Fees**

US \$ 20*300	Rs. 6,000.00
05 4 20 500	113. 0/000100

#### **Existing LEO Clubs**

Annual Subscription for 20 Me	mbers US \$ 90*300	Rs.27, 000.00
For each Additional Members	US \$ 5*300	Rs. 1,500.00

#### **New LEO Club Extension**

LEO Club Organization Fee	(For 1 st 20 Members)
---------------------------	-----------------------

US \$ 100*300	Rs.30,000.00
For each additional Members US \$ 5*300	Rs.1,500.00

#### Other Payment obligations

LCIF Contribution per Anum	Rs. 4,000.00
District Get-together Contribution for Club	Rs. 4,000.00







DISTRICT 306 C1 2023 - 2024 RISE TO LEAD

### Deshamanya Lion Jayasiri Andaraweera-PMJF PMAF JP District Cabinet Treasure 2023/2024

E-mail - j.andaraweera@yahoo.com Mobile - +94 77 726 5277

#### Please deposit above contribution -

Lions Clubs International District No.306 C1 Commercial Bank City office A/C NO .1020023751

